Limits of accuracy answers

0 min
0 marks
1. 255 < weight <265
1 mark for each. Allow 255.0 and 265.0
SC1 for fully correct but reversed
[2]
2. 6950
1]
3. 15.55 (< length <) 15.65
1 mark for each.
SC1 for fully correct but reversed.
[2]
4. 345000 355000 1,1
[2]
5. 6650 <L <6750
1 mark for each value correctly placed.
SC1 both correct but reversed
[2]
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6. 11.5<h<125 1+1
1 mark for each value in correct place.

[2]

7. 1250 (£d <) 1350
1 mark for each in correct order

[2]

8. 8750 (£d <) 8850
1 mark for each in correct order
SC1 for fully correct but reversed

[2]
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